HIE H

T 1 2 3 4 5 6 7 8 9 10

COD (kg/day) 0.11 0.12 0.11 0.10 0.13 0.13 0.12 0.15 0.13 0.18
b 2zEF (kg/day) 0.07 0.08 0.07 0.07 0.10 0.10 0.09 0.09 0.07 0.07
7”?3 28 (kg/day) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
— HE H
v il 75 11 12 13 14 15 16 17 18 19 20
K COD (kg/day) 0.20 0.25 0.23 0.12 0.13 0.14 0.16 0.18 0.17 0.22
£ 222 F (kg/day) 0.07 0.08 0.09 0.08 0.10 0.06 0.07 0.08 0.07 0.08
% “f (kg/day) 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
Z\ 72 HiEH 21 22 23 24 25 26 27 28

COD (kg/day) 0.24 0.27 0.25 0.25 0.17 0.19 0.18 0.28

42# (kg/day) 0.07 0.08 0.07 0.09 0.08 0.07 0.08 0.09

28 (kg/day) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00

FEl T2 B 5 wmAanrEEm o1 H Y7200 BEE (kg/day)

BEHKIZB T ARF R A EOFHE
n (FrEMRE AR ED) X (HEAKLERRMRATHES) = Graibmairs)
L’g COD  : 20mg/0 X 1,514m3/day = 30.28kg/day

L2edE . 10mg/0 X 1,514m3/day 15. 14kg/day
22 Img/0 X 1,514m3/day = 1.514kg/day




